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BMOLOGICAL SCIENCE

\ The puaeess \ﬂu-n\vmlgw\au be dexcribed an
(A reduetion ot \\v‘umw W ammonium

(V) oanidation of ammonium to nitrate

(L) anidation of ammonium to nitrogen

(D) raduetion of nitrate to molecular nitrogen

MR weldre ruwire wefw oW TV -
(A)  WRTIS e wewfRey feeree Ne) wrwfiar % SR e
) WIRWRUN Qv it we (D) AR« e ARG e

p—

3. Characteristically, endosperm is

(A)  haploid (B) diploid (C) triploid (D) tetraploid
wRRITere qrermnt ¥
(A) NI B) e (@ Do (D) ThreTe

L In which one of the following ways mycorrhizal association between plant roots and
fungi both partners are benefited ? |
(A) Plant gets sugar from fungi and fungi gets mineral nutrients from plants

(B) Plants and fungi get sugar from each other
(C) Fungi get sugar from plant and plant gets mineral nutrients from fungi

(D) Plant and fungi get nitrogen from each other
m‘wammmmwmmﬁmmwwm

SogS TN

(A) ST W T I o o wars SRy e R RGeS
(B) SRYW S WIS QU WOITHR CUCE IR W |
SO ware SRYw rers I o aw By wars e e ReRhors o
(D) YW S WAE W WOTHN (U AR ¥
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Which one of the following is found in xerophytic plants ?

(A)  Absence of cholorophyll (B) Sunken stomata

(C) Stilt root (D) Viviparous germination
FrfRoefom T remb el Sfem tr T 2 |

(A) THRF S VB) s e

(C) TR oS (D) fefSTerart wgramm

The overlapping zone of two ecosystems is called

(A) Biome (B) Biotype (C) Ecotone (D) Ecotype
7 IS A (SR )-TF el T -

(A) W (B) ACHORA V) I (D) EIHIEA
The major site of lipid biosynthesis in eukaryotic cells is

(A) Ribosome (B) Nucleus

(C) Endoplasmic reticulum (D) Chromosome
TEfRSHF (@I S M= oum g o -

(A) =TI B) e

«(C) «rerEfE g (D) TFICamET=

Select the correct food chain from the following :

(A) grass — chameleon — insect — bird

(B) grass — fox —» rabbit — bird

(C) phytoplankton — zooplankton — fish.
(D) fallen leaves — bacteria — insect larvae
FafeRresfem W tare s - ffdew 73
(A) T - JICATIN — ATSX — R
B) WA — TR — 0T — =R

JE)  TIRBILEET > TSN > T

(D) AP — FHRA — SCH TS
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Which of the following is not a characteristic of insects ?

(A) Three body division (B) Three pairs of jointed legs

(C) Two pairs of antennae (D) Excretion by Malpighian tubule
W2 TG e (fET T

(A) % oA err Ree (B) = rame «few Somy

) e §v (D) TErfera= Aotz s A5

Which one of the following pairs is correctly matched ?
(A) Spindle shaped body — Aquatic Adaptation.
(B) Excessive perspiration — Xeric Adaptation.
(C) - Saprophytism — Intraspecific relationship.
(D) Mimicry — Fossorial Adaptation.
N2 (oW el AT ©ira 71 2
SA) T W T — Terer ST
(B) e W fsomaet — ey SfSarer
(C) TouItel — e e Foo
(D) ST — ST AT ST |

Two pairs of wings of cockroach are on :

(A) Prothorax and Mesothorax

(B) Mesothorax and Metathorax

(C) Prothorax and Metathorax

(D) Metathorax and first abdominal segment

SRR o] ©Fl «3
(A) TITF G TYRATE (B) TOI® G *roMArw
(C) Woaw g3 *HWaArs (D) *roMI® 93 A9 THawers
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—Deer Tiger
I Grsss 18
Xl\lice Man

Rabbit Snake
The above represent :

(A) Food chain (B) Food web (C) Apopulation (D) Ecosystem

- T
w e
R ™

o Bl a= i |

(A) W7 @Y By e (C) adwefe (D) TRESH Brzae

‘ 13.  In which of the following organisms, self-fertilization is seen ?
(A) Liver fluke (B) Earthworm (C) Round worm (D) Fish
Frafefers tamm St st 7 i e o

SO FEREE  (B) wO © IR (D) e

]i4 Which of these aﬁima.ls has both endoskeleton and exoskeleton, ?

(A) Snake (B) Tortoise (C) Earth-worm (D) Frog

5T FW AT I S AR FWIA O R 9

4) B_T () ww ) e
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\@ Sound producing organ of peacock is called
(A) Syrinx (B) Vocal cords (C) Pharynx (D) Larynx
TYER =¥ B o o T4 T
(A) &R (B) TOE FE (C) s (D) T
a\,;. External ear (Pinna) mu absent in

(A) Bat (B) Kangaroo
(C) Camel (D) Duck bill platypus
T I (P wepeifys
A) TS | ®) AR
(C) B 1% R e

17.  The characteristic larva of phylum ‘Coelenterata’ is ..ﬁ?ﬁﬂ.ﬂﬁdﬁﬂ. :
(A) Trochophore (B) Rhabditiform (C) Cysticercus duv Planula
Frerort sifge ot tFErEe wet ==
(A) WICER B) wf#wEaw (©) St (D) e
1

18. Which of the following has a closed type of circulatory system ?

"~ (A) Fish (B) Scorpion (C) Mollusca (D) Cockroach
AT FIABTS T% TG RIZ 2w T T 2
X) T ®) T (C) T (D) ST
,\Q The number of spiracles in Cockroach is
4?. (A) 8 pairs (B) 10 pairs (C) 10numbers (D) 12 pairs
SRTHAR YHARET R TS ?
(A) 8 TeS! B 10T € 101 (D) 12 &
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“20.  Body cavity in arthropods is |
(A) Coeclom (B) Haemocoel (C) Pseudocoel (D) Coclenteron
TSt e
(A) Pxars (B) fere= (C) MrSrema (D) Pmbee
A%u—. Which of the following is not a living fossil ?
(A)  Perppana (B) King Crab (C)  Sphenodon (D) Archaeopteryx
Sye e Pag Py
(A) Tt (B) VOIS (C) Twrs= P wffeensirm
. \,
ﬂ!?@ A procnzyme secreted by pancreas 1s
e (A) Lipase (B) Amylase
(C) Trypsinogen (D) Carboxypeptidase
WY T (N - R Wi vu
(A) =™ (B) WITHIETAw
) Befremes (D) IdFETI-BrATEw
23. The enzyme used in ‘transcription’ is
(A) DNA polymerase (B) Ligase
&) RNA polymerase (D) Transcriptase
‘e rmm S aewe Tu e
(A) f8, &7, « forarze (B) ETME
(C) wWm, &3, « “ferawze (D) GrAferoe
/3. The pigment of blood of insect is
(A) haemoglobin  (B) xanthophyll (C) haemocyanin (D) carotene
ﬂ__I_-aﬂd:aﬂau
(A) ferawgfen (B) wmgreZa v (C) farapmifaa (D) WA=
FENPASGY 2021 (Bitogioai 565~~~ ~ & e
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25 Which of the following hormones induces contraction of uterine wall during child birth ?

(A Oxvioin (B)  Parathormone
(Y Thyrovane (1) Somatotropic hormone
v res varwsl o W sy wary e MIBBATS sfrafos w2y
JA)  wheadias (1) s
O wies (D) OINBGYE Tarae
Ry
. ’ :a‘\ Breathing rate in mammals is controlled by a part of the brain called
= (A)  medulla oblongata (B) cerebrum
(C) hypothalamus (D) cerebellum
wrer® e Y - oo TR W 93w v s 2w e @ T
(A) Tge Sl (B) owmufsw
(C) wETMTETT - (D) g

1 27 Simple squamous epithelium is found in
e (A) bronchi (B) trachea (C) alveoli '\,5132 bronchioles
T T TS e W 7

(A) JeeTT (B) =TS (C) wfesfars (D) Ffwes- @

Sarcomere is the part between two

&)

(A) H-lines (B) A-lines (C) I-bands (D) Z-lines
rrEfaya Al el wew, w1 vw
(A) H-T3w (B) A-taW (C) 1SN (D) Z-T

29.  Which of the following hormones is not secreted by human placenta ?

(A) HCG (B) Estrogens (C) Progesterone (D) LH
NE (@R TAAD “wwar rare wiaw T A »
(A) HCG (B) R (C) TSRS Y LH

— ——— —— S -~ . r— —— - a— o— ——
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e maturation of Granflan follicle and qulation are induced by atrogen
(A) FSH ) L (C) Progesterone (D) Estrog
aferwmm witmn.qu pyrs wfeeree o vewds v v g T
(A) O a7 98 (FSH) (B) u® a®&s (LH)
(C)  TeeTdan (D) ACHICIH
31, In which stage of Meiosis- | crossing over takes place ?
(A) Leptotene (B) Zygotene (C) Diplotene (D) Pachytene
fcafomr-| au tem ity asfor sorm an
(A) T (B) wnkof®s (C) feral®= P =
32. A group of interbreeding population which is reproductively isolated from other such
group is called o -
JA)  Species (B) Genus (C) Class (D) Community
QTR o SO TS T e GEI WA MY SO SR A SO T
L3
(A) o (B) (C) v (D) e
, |
2 * 33. Blastopore is the opening of
' (A) Coelom (B) Morula (C) Blastocoel (D) Archenteron
e feaf wre e 7w
(A) Prom (B) e (C) wePm (D) WRTEFDR
34.  Which one of the following is the infective stage of Malaria ?
(A) Trophozoite (B) Merozoite (©) | Cryptozoite (D) Sporozoite
fryfefeefem g taf s Aeasme g »
(A) @remms  (B) Tt (C) fisrebrecd (D) T~Tearorcas
JENPAS(UG)-2021 (Blologieai Sc) T e
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@ DNA proof reading Is done by
‘QL (A)  RNA polymerane (B) Helicase
)

< (C)  DNA polymerase (D)  Topolsomerase

DNA % g s

(A) RNA «fertcaer wam | (B) Teforww wm
(C) DNA +ffértcaer wian AD)  BremarRTmICIer wran
.
36. Myl sterilization prevents pregnancy by
(A) blocking ovulation vﬂf blocking gamete transport
(C) blocking capacitation “\(’D) _blocking implantation
e A e offormy
(A) o Rome eofdrs wta (B) WA (aw e ofdws atn
(C) Tt effdae wtn (D) T=uCoTA ofows TH

37. In meiosis, haploid condition occurs at

(A) Anaphase-I (B) Anaphase-Il
— ,
(C) Metaphase-II \/(_‘2 Telophnsei

RTHPGT PTHTER TTLTHS SAg (31 W0 "N 0w 7
(A) SORICEr- (B) M-I
(C) TwOITEer.|] (D) TOraTTw-|

v ey e e e . . . . o s o . e = e e . et s . i s S, S et 2t -~
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X Respiratory Quotient (R.Q.) of which one of the following is highest ?
—

(A) Glucose (B) Malic acid (C) Protein (D) Fat
ﬁaﬁlﬁmﬁimwﬁmqmﬁmmﬁ(mﬁ@)my
(A) T () wifem s (C) Ll (D) oA

—_—

R @ The pigment responsible for photo-morphggenetic\;esponse in plant is

(A) Chlorophyll  (B) Xanthophyll ~ (C) Phytochrome (D) Carotene

S0 TR ® AT o Wil 9eF 7=
(A) G (B) wEE (C) wABT@™ (D) FWAMGA

40. Dumbbell-shaped guard cells are found in which one of the following ?
4

e® (A) Wheat (B) Bean (C) Sunflower (D) Ground nut
T WA A7 (IS AN I Frarerefem (IS 2
™ ®) P © T3 (D) B

D“’QL Which phase of aerobic respiration is called amphibolic pathway ?
(A) Glycolysis (B) Terminal respiration
(C) Kreb’s cycle (D) Oxidative decarboxylation

AU PR @R QoS TObF (SUIeTF) 1e 3T T 2

(A) MECIFENZHH (B) G worm

e —— — T e e . e S . A . T S i o e e
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Which of the followin

43.

@Q&

45.

JENPAS(UG)-2021 (Biological Sc.)

(A) Red algae
(€ Blue green algae | 23

T Q3 Cerarey
(A) o o T T W A
(B)

©)  WeTS-v1wr prae (D)
Xenogamy is a type of pollination involving

(A)  Two genetically different plants (B)
(C) Insects (D)
TSR G SRR R0 WS T -
() AP Rt o e Sew (B)
(C) erox D)

JENPAS(UG)-2021

1t A

8 group of algae do not have eukaryotic organization ?

Green algae
Golden brown algae

e O
CHeeR- o et

Two genetically identical plants
Wind

A5 SIS @F AT Tfew
g

Which of the following plant hormones plays a crucial role in organ differentiation ?

Abscisic Acid (D) Auxin

(A) Gibberellic Acid (B) Ethylene (©)
FafeiRe Sfw Zame R S (@D woF Afgar ewged gt e 9 2
A) fer=rfe wnfe - (B) R |

(C) wRfFF=Eemte v(D) SfER

Mosses and Ferns are found in rhoist and shady places because both :

(A) cannot compete with sun loving plants
(B) do not need sunlight for photosynthesis

©)

require presence of water for fertilization v~

(D) depend upon microorganisms for the nutrition

97 G T S TR SR NS T, G I T
(A) mmmﬁw@mma&ﬁmmwm

(B) FCEAF R &7 SR A 0T
A & Q9 AAeE W
(D) qﬁawwﬁ@i%ﬂaﬁ@qw
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Transport of food material in higher plants takes place through

(A) Companion cells . (B) Transfusion tissue
(C)  Tracheid's (D) Sieve elements
Sre SFATR WMT AW T R

(A) W T (B) Grfdlom wen
(Z‘T Bt P Frewm

The point at which polytene chromosome appears to be attached together, is called
(A) Centromere (B) Chromomere (C) Centriole (D) Chromocenter

e s +fAlds T I I% AE o [
A) TROfR (B) weGRmR () ¢fgss W

v @ Cymose inflorescence is found in which of the following ? .

(A) Trifolium (B) Brassica (C) Solanum (D) Sesbania
Fafefefer w0y et Rt <RI onew T 2 |
(A) Trifolium (B) Brassica AC)  Solanum (D) Sesbania

Sexual reproduction is absent in which one of the following ?

(A) Spirogyra (B) Nostoc (C) Ulothrix (D) Volvox
, Vie—

FrafefRefim g bre v o Lk

(A) Spirogyra (B) Nostoc (C)  Ulothrix

(D) Volvox

The “eye” of potato is an

(C) adventitious bud (D) apical bud

——— —— .
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